XYZ,=95.04,100.0, 108.89 —74 Parameter:
A,=256,-8,)Y I L*c) &Name
B,=25p,-b,)Y Y.

62 B[ (x- >< )

Y /1

Lcir=L*¢, -50 74
o cr=50 ,

GOs(waldFarben 0).Cp,
Farbenraum (Cyg 5, L’ c‘,)
Lo =L cie(Y) / Licig(18)

Lichtart D65, Y 1000 Y 01

Name Bereich X A

20,

f]
38077500 001 001 03110327 0% 0615 0348 0.01 0.0
U; 380_775 171 180 196 0312 0.329 18% 0.616 -0.348 0.01 0.0

=

W 380_775 95.04 100.0 1088912 0.320 100% 0616 -0348 0.01 00 00

00
00

2 Y
R 567_775 50.63 37.91 0.05 uEl 0338595 4391280 0.0~ 0758 638 339 71827 2.1
493_775 77.11 94.25 6.76 0.432 0529570 463061 -0.022 0325 -13 767 76.7 91
X 493 567 17.49 56.35 6.71 0.217 0.699535 5350.153 ~0.038 0.557 -65.2 43.7 785 146 3.3 208 30.6 2
380_567 35.41 62.09 1088471 0.3 489 5960.204 -0.56 0.463 —63.8 -32.9 718 207 3.44 329 338 30.7
B, 380_49317.93 5.75 1020242 0045463 5700.711 -5.681 5334 13 ~76.7 767 271 031 -21.2228.9:22.
M) 567_493 77.55 43.65 10201847 0.19553505351.213 ~0.749 0.719 652 -43.7 785 326 2.42 22.0 22.7 22
00 0

S Ve
175" 186 1

523 47.7 487 4

555 500 510 426
00 180 00
00 185 10

-49-286:2:09.8f [N |

0.4 00 0.9

XYZ,=96.42,100.0, 82.49 —74 Parameter: L CIr—L* -50 74
A= 25 6,-3,) Y I L*q) & Name CIr >t
B,=250,-b,) Y 1 Y,=Vi8 !
3=y [(x-x.)/y - 7hm,

Cag,2

B2~ 1Ay
6 OstwaldFarben (0),C,g
Farbenraum (Cyg 5, L*¢;)
=L () / Lcie(18)

Lichtart D50, Y 100 0, Y -0 1
IName Bereich X Ao Ury
R, 570775 6400 3939 005 PR T T TR I o B Tyl o

496_77583.1 94.03 4.27 0.458 0.518573 680,671 -0.018 0.312 33 733 733 87 522 476 486 4
eﬂ 496570 18.21 54.04 422 0238 0706538 5380181 -0.031 0562 -643 403 759 147 30 284 292 2
c? 380 570 31,53 60.01 8244 0.181 0.344491 5980.206 ~0.549 0501 -67.6 -32.9 752 205 333 318 326 2
By 380496 1332 5.97 78.230.136 0.061468 5730434 ~5.235 401 -33 -73.3 73.3 267 033 ~20.32622.
M 570496 78.21 45.95 78.28 0.386 0227536538 1217 ~0.681 066 643 -40.3 75.9 327 255 235 24.2 2
W 380_775 96.42 100.0 82.49 0.345 0.358 100% 0657 -0.329 001 00 00 00 0 555500 5.0 42|
SED 77500 001 00 0344 0357 0% 0656 -0.329 0.01 0.0 00 00 180 0.0 -49-48@209.8|
US 380775 17.35 18.0 1484 0.345 0.358 18% 0657 -0.329 001 00 00 00 180 10 -04 0.0

Tgf20-1a

Tgf20-2a

XYZ,=100.93, 100.0 , 64.68 —74 Parameter:
A,=256,-3,)Y I L*c) &Name
1 Y=vns

L'cir=L*¢, -50 /4
50 r=L"cir '

1, by
>< —0110B —1300

,=[AZ+B, 5]”2
SOstwaIdFarben 0),.Cp,
Farbenraum (Cyg 5, L* cu)
L=l cie(Y) / Lce(18)

Lichtart P40, Y

Name Bereich X A

000 Y—Ol

498_775 90.58 95.34 4.06 0.476 0501576 468073 -0.022 0314 3.2

<7

Q)

M 573 498 80.53 45.79 60.670.43 0244540c5401.309 ~0.688 0.689 67.8

N, 380775001 001 00 0.378 0375 0% 0716 -0.3% 001 0.0
U 380775 18.16 18.0 1164 0.379 0376 18% 0717 -0336 001 00

Cu
R, 573_775 70.19 41.14 0.05 usa 0369600 4931403ou 0768 700 345 70025 “228 202 208

748 749 87 529 481 491 4

G) 498 57320.4 54.21 4.02 0.250 0.689540 5400.216 -0.033 0582 ~67.8 40.3 789 149 3.01 285 293 2
380_573 30.74 58.86 64.64 0199 0.331493 6000.234 ~0.571 0537 ~71.0 -345 79.0 205 327 312 32.0 2
B, 380_498 10.35 4.66 60.62 0.136 0.061468 5760.435 -6.762 6.432 ~32 ~74.8 74.9 267 0.25 -2438523%% 4

-40.3 78.9 320 254 23.4 24.1 2

W, 380_775 100.9800.0 64.68 0.379 0.376 100% 0717 -0.336 001 0.0 0.0

00
00

00 0
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00 180 00

00
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XYZ,=109.84, 99.99 , 35.58 —74 Parameter: L'CIr=L* -50 74
I L*cr &Name | 50 Cir '

=1, =04

X, ~ 0,116, B =2,500
SIAZB 5]1/2

6 Ostwa\dFarben (0).Cyg,
Farbenraum (Cyg 5, L*, cn)
L* g =L e (Y) / Lige(18)

Lichtart AOO Y 100 0, Y —0 1
IName Bereich a, o2 e Uy,
R, 570775 1930 430 004 0549 0349605 4691542 -0001 0797 76.7 361 857 26 238 215 223 2

504_775 104.495.97 2.33 0,515 0.473581 4740856 -0.024 0332 6.6 795 798 85 533 484 49.4 41
e 504_579 24.59 52.96 2.20 0.307 0.663547 54700298 ~0.043 0.615 ~70.1 413 814 149 2.94 27.8 28.6 2
c; 380 579 20.97 56.99 3554 0.244 0.465499 6050.280 -0.623 0.601 ~76.7 ~38.1 85.7 206 316 301 309 2
B7 380504538 403 33240126 0.004474 5810.172 -8246 7.017 -6.6 ~79.5 79.8 265 0.22 ~263 42578,
M 579 504 85.26 47.04 33.28 0,514 0.284547C547 1425 -0.707 0,692 70.1 413 81.4 329 261 24.2 249 2

W 380_775 100.68.99 35.58 0.447 0.407 100% 0828 -0355 001 00 00 00 0 555500 510 42
N, 380_775001 00 00 04450405 0% 0827 -0.355 001 00 00 00 180 00 -49:9562099

U, 380_775 19.77 17.99 6.4 0447 0.407 18% 0828 -0.355 001 00 00 00 180 10 -04 00 09|

Tgf20-3a

Tgf20-4a

T920-7TR R




